Page 1 Answers
8-1

24. —2y? + Sy; quadratic binomial

25. —2g + 7, linear binomial

26. x* — 3x + 4; quadratic trinomial

27. —7¢* — 4x + 4; quadratic trinomial

28. —3c’ + 8c + ¢ seventh degree trinomial
29. 3z% — 272 — 5z fourth degree trinomial

8-2

21. 3(3x - 2)

22. Ht + 8)

23, 7(2n* — 5n? + 4)

24. 5(k3 + 4k% — 3)

25, 2x(7xf — x + 4)

26. g(g® + 24g? + 12g + 4)

8-3

8 x% + 11x + 28
9. ¥ + Sy — 24
10. m2 — m — 42
11. ¢ — 15¢ + 50
12,27 —r— 3
13. 6x¢ + 13x — 28

1-7
25.2x + 1 26. 2 +3n
27.§ - 3 28.2y — 6

33, -20-d 34,5 + 4y
35. -9+ 7c 36. x — 15



14.
15,
16.
17.
18.
19,

8-6

14.
16.
18.

8-7

13.
14.
15.
16.
17.
18.
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{y +Siy + 1)
{t + 2}t + 8)
{x -+ 8Mx + 7)
{n — 7)n — 8)
{r — 8)r — 3)
lg — 6Mg — 2)
{5z — 1Hz + 4} 15. (2k + 3k — 2)

(3t + 82t — 10 17, (3x — Dix + 9
{dw + 3w — 2) 19, (2d + 5i2d — 7)

- A+ 120w — 12)
25,
26,
27.
28.
29,

{a + Tia — 7}
{y + 1y — 11}
{t + S}t — 5}
{k + Blik — 8}
{m 4+ 15K 15}

(5g° + 1}{3g + 8)

(292 + 117y + 4)

(722 + B)2z — 5)

(w2 + 1¥11w — 9)

(2m + 142m — 1{2m + 3)
(3k2 — 10)4k — 9)

8-7

L lh + 42 10. (v — 51
(30— 7¢
L w4+ 12%w — 12)

ASr + 19 — 1)
30 + 20030 — 20)
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1-8
27. 1154 = 680
2-1
26, & 27, -4 28.29 29. 0.16

34. 24 35. 175 326. 91

37. —117

2-3
11

1. 45

2, -7

3.2

4' 2

2-4

21. 25

22.7

23, 37

24. 1

3-3

50. —g.s = 3 Div. Prop. of Ineq.
—-05=p Simplify.

51.3(-1)=3(1)  Mult. Prop. of Ineq.
3=t Simplify.

52.5(3n) <5(4)  Mult Prop. of Ineq.
n= 135 Simplify.

53. 2(0.5) = 2(3¢)  Mult. Prop. of Ineq.
1=c Simplify.

3-7

17.r=130orr=3
18.c=2arc = -10
19. 9= -lorg= -5
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5-2

9. no 10. no
11. yes; —2

1. -4 4
12. 3, -21
13. 1.5, 25

6-4
7. 40 bicycles

11. 4 fifs; 2 fu/s

2-5

- 2] _ C
1$'x_r7:-+n 20.x—&_1
M. x=7—  22.x=by+v
23.x=225  24.x=%

b
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2-2

11. —12 125 13. -1
14, 50

2-7

30. 13.7
31. —5% 32. 23 33. -5

34.25h
3-4

9.f=13
10.n = —2.5
M. y> -2
15. 55 = 250; 5 = 50 mph

3-6
1. 7 =k=25

-7 5
I - - et

-9 -6 -3 o 3 [}
12.3=y=9

e —
02 4 B B 10

13. 2 <p=<>5

o 1 ki i 4

14. 14 = k= 26

et —{——}
12 16 0 I 28 37

3 1
15. 33 < x < 8

- 83
oz 4 6 8 1
16. —21 =g =33
==l ol

—40 -0 0 20 40 &0
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9-3
8 +3 9. no salution
10. O
9-4

14. —10, -1 15. 8,4
16. 5, 9

9-5

7. 81 8. 121

9. 225
289

14. —3.83 783
15. -10.24, =576 16. =5,7

9-6

. —1.5 -1
8. 6 28

1-9

8. yes 9. no 10. no
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4-2
8.) Linear, y=3x+5
9.] Linear; y=5x—3

10.) Linear; y = -11x + 43

4-3
8. 9. 10. 17
6 y 6 y - -— [ 3 y R 3
% e o9 4 1
4 2 % 4
; ERCRE REBURE
L -4 |
: x 4 L4
51234 -
linear nonlinear
nonlinear
6-1

1.) x=-Z% intersection at (-2, 1)

2) ®x=2; intersection at(2, -2)




6-5

32.

Back of Page 4 Answers

y=-3x+3 33 y>3x-3

34, x =3

6-6

7. yes 8. no 9. no

4-6

18.
19.

22,

{=10=9 =7 =5 =4}
{=39,—7.%1,5, 21}
D=x=17, 0 =dx) =544

= 525 | /
b

< 300

E

2%

246810121416

Number of Gallons. x
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4-7

30. AM=1.1;An=An—- 1)+ 08
31, A1) = 399; Aln) = Ain — 1) — 11
32. A1) =23 Aln) = Aln — 1} + 15

4-1

5. Mumber of pounds, total cost; as the
number of pounds increases, the total
cost goes up, at first quickly and then
mare slawly.

6. Time, grass height; the grass grows
and you cut it, then it grows again and
you cut it. This is repeated three times,

7. Area painted, paint in can; the more
you paint, the less paint left in the
can. You are using the paint at a
constant rate.
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9-1
7. (2, 3); maximum 10. y
8. (—3, —2); minimum 413 o l"
9. (2, 0); minimum /10 \
e
4l I A
/ b \
[ \

g ok | ] )
domain: all real numbers; range:
y=0

11. \ fo]/
{ B3
b |p lo] [ 2|k
Y
domain: all real numbers; range:
flx) =0
12. )
10
6
! £
-4 |2 |O 3
domain: all real numbers; range:
fixy=10
5-1

1. Rate of change: 40 mi/hr
2. *** Do not worry about this problem ***
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5-7

1. Average Maximum Daily Temperature
in January for Northern Latitudes

o+

Temperature (°F)
- W B

OOOOOOg
;

'\'25 30 35 40 45
Latitude (°N)
negative correlation
2-3. Answers may vary. Samples are
given.
2. y= -2x+ 120
3. about 20°F

12. There is likely a correlation and a causal
relationship, because the more you study, the
better prepared you are for the test

13. no correlation likely

14. no correlation likely



